
4 × Bolt M10x130* 4 × Nut M10*

4 × Washer A10.5x20*

17 15

1 × CH-100-5,8m OC

≤ 20 mm

1А

Use CH-100 Cut -
Marking Tool!

≥10 mm

2×
Anchors 
(see instruction 
for use)

2×
S-BT M10
X-BT M10
(see instruction 
for use)

<10 mm

A

Do not apply torque moment

2А 3А

CH-100-B-O2 OC

* - stainless steel

40 Нм



≤ 20 mm

1B

Use CH-100 Cut
Marking Tool!

≥10 mm

<10 mm

B

Do not apply torque moment

2B

1 ×2×

3B
17 15

CH-100-B-O2 OC

8 × Bolt M10x130* 8 × Nut M10*

8 × Washer A10.5x20*

2 × CH-100-5,8m OC

* - stainless steel

40 Нм


